PLUS TWO MODEL QUESTIONS — CHEMISTRY

Answer any 4 questions Each carries | score (4x1=4)

1;

(5]

The solutions having equal osmotic pressure at a given temperature is
CALlEH — e e
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== A alowym,

Which of the following oxidation state is common for lanthanoids?
1) +2 (i) +3 (iii) +4 (iv)+5

MM EMOVAIGHROS Hald®AUID EH; V1B BMOAITLN B ?

(D 2 (i) +3 (ii)+4  (iv)+5

. (Cr (NH;); Cos) cl is a co-ordination compound. Name the central metal

ton of the above compound.

(Cr (NH3)5 Cos) ¢l agam c#08uslemasad quowyemaniloal saum(sas
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The product obtained when benzene is treated with carbon monoxide and
hydrogen chloride in presence of anhy AICl; is --------

@ap@eeaowmd AlCl;  oes mvomlwiomlad esrumdaulad, @:0@6niend
GROGEMIBHHTVAL)0 HOAD(WRM CHINNOU20WV (AIUIATTH9)EMNI0U3 -~
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Answer any 8 questions. Each carries 2 Score

Henry’s law is related to solubility of a gas in liquid

(i)  State Henrys law 1
(ii)  Write any one application of Henry’s law 1
(1) 0ol Mo (aIM®oailen)d: 1
(i) oD V2oMIO®R B0} (APECVWIUlH: RalCWINO af) LM, 1

The boiling point of benzene is 353.23k. When 1.80 g of a non volatile
solute was dissolved in 90g of benzene, the boiling point is raised to 354
11K Calculate the molar mass of the solute Kb for benzene is 2.53 K

kgmol™ (2)



ssnummilmlen @lg mler 353.23 K ame)om). 1.80g 6nI0atialld0leeom
eflmo 90g  @snidmlmlealed ealdenamioud, malan olg alel 354.11K
@] pooym). emmdavimiang Kb ajeio 2.53 K kgmol”'  amesmes
elmomland ¢aogod @0 @@y llslan)d. (2)
8. With the help of Danicl cell, Derive Nernst equation for cell potential. (2)
WIMI@ HAVEIOM TVANOWVEBMONS ENMIY TVAIIM S0 O)a N G1H) B
9. What are pseudo first order reaction & give examples? (2)
©32200MMA0IMo TVJEWO GaNo0 MOBALAE Clwod M a)TDIBEMAT
ag) 6.

(2)
10.Describe the method of preparation of potassium chromate from chromite
ore (2)
GL0GRQ 60010 Ml 9alogoaV 0 HHWE(B062Q 1O mldmosmo
QilUBR6N)S:. (2)

1 1.Write the IUPAC Name of the following coordination compounds?
E, ( CO(NH3)5 SO4)C1
2. K3 (Fe(CN)ﬁ]
©0619 63:05)0Blee)m aquow)smeezles IUPAC mozo ag)9ym)s.
(2)
12.Difference between SN & SN2 ?

SN' HWW)0 SN° HARW)o QUIDOEBBUD )P0 (2)
13.Why phenol is more acidic than alcohol? (2)

a01cmMos1n) @R@3EHIE00SIEMENIUB @IVIAWE VIO &)S)MEIOE)

) MO 0ETE? (2)

14. Arrange the following compounds in the increasing order of their basic
strength.

NH3, CzH5NH2 P CGHSNHZ s (Csz)g NH (1)
b) What is diazotization? an@GIVLOOOFEIVAHM af)MNOGE ag)as)
(1)

a)®malalea)m TVoW)EMERHS @RAIWANS GNIMIl®WHS
@RSITLOIMODIGE @RYEOIANEM (HAGDIG f) P}

NH;, C,HsNH, , CcHsNH, , (C3Hs), NH (1)
b)agamoen (WwOETLINHQYETVAHB? (1)
15.a.What is denaturation of protein? (1)
b. What is invert sugar? (1)
(a)ag)amoem aulmoafEOaHd? (1)

(b)agomosm) madeIds auynd? (1)



Answer any 8 questions Fach carries 3 marks
16.(1) What is the major product obtained by ff-elimination of 2-bromo
pentane? (1)

(iDName and state the rule which lead to the products? (2)

(D2-6@n10¢Q0 atedadad - apelalemaum msom)emngd eidlonrm
(AWOM PV aJMo aR®)? (1)

(1M pddaltamo LIR1H0) 003 B0PEMROW) WlwaamlOg Gaiene)o)

(A0 016)) B> (2)
17.(1) What is Luca’s reagent? (1)
(i)How can we distinguish 12,29 and 3° alcohols using Luca’s reagent

(2)

(1) enesomy ol ABRA aB@o6em? (1)
(iDene9oa’ 01 agmaf palecwouila) 1°,2% and 3° @@dencanis)sss
af)sIBeM ™10l jolwdo.? (2)
18.(1)Explain aldol condensation taking CH; CHo with example. (2)

(11)Write the names reaction involved in the following conversion
2HCHo NaOH
——> HCOONa + CH3;0H (1)

(1)@y@deawoud sermememauadCHy CHO proaoeemaews)oos
iluoia165:01H6) 8.

(i) @99 §8:05)TWCEHNM EOTV(AIAUBTDDONOG EalOOP)®)d.
2HCHo NaOH

— > HCOONa + CH;0H (2)
19.How will you convert (o
()

(i)Ethanoic acid to ethanol

(i1)Propanoic acid to 2-Chloro propanoic acid
(iii)Toluene to benzoic acid

0o M MBI nf)$)m)d:.
(i)agoemowils; ayamilasled mla aglnemoud
(i1)e(t0gjemowls; apmilasied mimy 2 GROGO0 B aloaMOWE: @Ryl

(iii) esogyalmlod ooy eenidemowie ayavlad



20.How will you carry out the following reactions
(HHoffmam bromanide reaction
(i) Carbylamine reaction
6% @06Maflolenan aomaloidammemud Alluannd@e) .
(DEA0AOM0 GEnIoneeRAD Slaoamd
(1)@ odmNemnd olwoemad
21.(1) What is peptide linkage? (1)

(i1)Write any difference between DNA & RNA (2)
(DOalaIooQal eNcmmd afamoemyy

(iDDNA @) RNA @)o mmilensg gamleno 06me nlym o muemsad
A,

22.a. What are ideal Solutions? (1)
b. Draw a vapour — mole fraction curve of a non ideal solution of 2
volatile components A & B having positive deviation. (2)
A4.9af) W@ LI0OMIBHUB g)TNIeLIND?

b. A.B, caidamysmomioym emosm eagulo@ enemlw)as caavlglal

QUY®I@IMo B06MIBN)M GAla|d (alaH@ - GBOU (ADIBHM (Il
(1801568

23.a) Explain the change of conductivity & Molar conductivity of a solution
with dilution? (1)
b) How can we determine limiting molar conductivity of a strong & weak
electrolyte ? (2)
a)80) eNMIVOS NIUID BOB)EMIIUE @GOG Bemea:glalglw)o
c202803 &eneagaillglwle af)a Ay@IImo Muocales)mm).

b)aoye #)slomie afloge @oeomm@ow eflaligles ¢aos80d @ameaglailgl
ag)EBBOM &6ME) aflSlendo?

24.a) Write Integrated rate equation for a first order reaction? (D
b) Derive relation b/w half life period and rate constant of a first order
reaction? (2)

a) Ist @dwad oaualudemmonilen maewgal cog mloammlend
MUANUIEHL0 0f)P)D) .
b) Ist @odawd @oMuaIIdE@METIHG GRAWIWEN0 MDes mucledsaye
af)sBBOM NINWEJSIGlHNM) MVAAIDB: o O)alldO1B8) .

25.a) What is tanthanoid contraction? (1)
b) Write any two consequences of lanthanoid contraction? (2)



(1)
(2)

2)L1AMEMIVIU GHIMM(SIMUM ) TNIOLINT?
b)omead 2 amlemimaneiemud 0N lmol06)
26.Draw Crystal field splitting of a orbitals in a tetrahedral field.

ossaolwom  anlodavleel  d @odenilgella U a1

MIQlEmIN afl®o QIOHE) .

Ansewer any S questions. rach carries 4 marks

27.a) What is a fuel cell? (1)
b) Write the electrode reactions in H, - 0, fuel cell (2)

¢) Write the advantages of fuel cell (1)

A, a0 NUA3 HAV3 AGHaANIOLINDY (1)
b.H, - 0, api03 ©avefloel els:Esowm 01 aHMB nG)) D). (2)
C.a0AIR HAVRIIONG CAMBABU agu? (1)
(2)

28.a.What do you mean by order and Molecularity
b.Write two factors influencing rate of a reaction (1)

¢.Write Arrhenius equation (1)
2.803WA.c00818:) 210010l a)TD® OH6NE @AMNAIHH)MOD A ? (2)
b.olwosmead coglom auowlmleaym QEME NRISH:ETBUD ag)PI@)S:. (1)
C.@ROIMI@M TVAADE:I0 af) 9@ (V)
29.Explain the structural isomerism in coordination compounds (4)
GHOWICMaU™ Mo HMEBBB)OS Me(S&> 2103 £af)BGIVIHA0ITVO
ilulee) s (4)
". &1‘ - . I- # i v . - -
@” + N@ﬂ% product -
30.a. i ok
Identify the product and name the reaction (D)
b Noc| :
r : } cue Bz . D
W B 7
Identify the product and name the reaction (1)
oM =
-y cvcalsg . NeoH o 9
@ * T acid RNcoon
Identify the product and Name the reaction ()

d.Give the product of bromination of phenol with Bromine water (N
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31.Explain the following Reactions

a. Rosenmund’s reduction (1)
b. Gatterman Koch reaction (1)
c. HVZ reaction (1)
d.Wolff — Kishner reduction (1)

5. ®8% ®MIBIEOM (aUAEmMEIBRUE AlludBTE:0189) .

a.GoOMVMDYETEMY Ol (1)
b.;ngdcam c#0a] 01O UM (1)
c.HVZ olwoeum (1)
d.anBal &lafim@ oloweuad (1)
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